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We lowered him, we will raise him — 9% J9P0R 1IN 790 JONNN AN

OVERVIEW

The case at hand: 12387 had 7%°5% *7v and Xn72aK *7v; wnw had only 77238 >7v. 1"
ruled that the property belongs to 12%. Afterwards 117v»w bought Xn72ax >7v as well.
1"7 ruled that we will change the ruling. We removed 1nvnw from this property; now
we will reinstate 'Wwnw to this property. n1vomn will be discussing under what
circumstances will we actually rule that j1°pon 7R 13°NNX 7.

— NYXNN PINM NPNNAN NPIN DY 5DT IMN NN ON)
And if that one, who did not originally have o7y that the property was in his
father’s possession; if he was the original PI17Y%; he was in possession of the property
when they came to this 77 17 (where the other litigant [323%7] had 79°28) 802X °7v and he
[1wnw], the prmin had 7%°9% ¥ only), then the expression of —
— NYNNA NN TYUNI 1192 N9V 1327 0N) 1IPNNN 929V INN
‘We brought him down and we pick him up’ is properly understood. 711 27 is
saying: we originally brought 1ny»% down, and evicted him from the property,
replacing him with 32387 (who had Xni7aRy 7908 »7v). However now that 1wnw also
brought XniaxR 7y, we will pick 17w»w up and evict 12387 (who had the original 7y
XNaxX) from this property, which in effect will cause that we will place it in the

possession of 'wnw the original p1mn as it originally was. Since it is ™1 >0, we place
the property in its original 7pIm; it was in s"WnAY possession. The expression of j1°pon1 1°NNAK
(concerning 1WnW) is appropriate; he was displaced and reinstated. If however, the original P
was 721X and the original 05 of 1" is that 72X retains the property, there is a difficulty. What
would the term Jpon' mean?' Granted that 1wnw also bought XnAax *7v so it is a complete >N
»M; each litigant having 79°58 *7¥1 XNk *7v, nevertheless the property should still remain in the
possession of 2187, the original prma. There is no reason to evict J2X7 if it is M *7n. In a case
of "M "n we follow the 711, which in this case it should belong to 72187, the original prmA.
Therefore it is best that we assume that the original pimn was 1w»w, the one who did not have
Xn7ax 7y, and was subsequently evicted. Now that 1n'wnw brought XniaR *7v, we evict 1217 the
current occupant, and restore 1w, the original P17, to his property.

mooIn offers an alternative explanation of 11°ponI 11°NNX:
— AT R AT NRY PINI N9 KD 199N

And even if there was no Prm» in this property not for this one and not for the

"If we were to interpret j°p0M1 100X to refer to J21X7 (as in MdOIN second explanation) then the term j1°nnX would
also be difficult. There is no need to ‘bring down’ 121" into the property; he is already a prmn in this property.
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other one. Neither of the litigants was prmn in this property; it remained unoccupied, for

instance -
— 2391553 MAININNIY 1Y NP AY NNNY 1Y NPNNN YI9Y s81n)

It is also possible to explain the phrase j°pon1 100X, differently; we bring down
729%7 who has XnfaR 7y into the property to give it to him. 12187 now becomes the
P, After Wnw brings RNAaR 7Y, then we pick 12187 up from this property,

meaning we will take the property out of s'J21X7 possession, in which case the original

status quo will remain; that neither is in possession of this property —
J93) ©INT 93 T XD

And the ruling in this case will be: ‘whoever is more powerful will prevail’. This
is the ruling which is applied when two people argue over property, and neither is in possession.
If neither has more proof than the other, 7"2 rules that 12 0°987 93; they fight it out amongst
themselves.

TPNNY Y
These explanations were said in the name of the 3''=.

SUMMARY

The phrase 11°P07 71X 13°00X 13X refers to either: a) NYnw, where NYAY is the original
P and ultimately retrieves the property, or b) 12187, were there is no original
P1mn, and ultimately the ruling is 723 22987 5.

THINKING IT OVER
1. In moon second scenario, what are the arguments® pro and con that we should
remove it from the present ‘P’ in order to rule 723 o*>x7 9377

2. What is the 7 if it is *n1 *n originally and neither was the pimn?°

2 In mpoin first interpretation 11pom1 1NAR refers to 7YAW; where 1°NNX has a negative connotation and JIpPOX a
positive one. In the second interpretation 11°pom) 11°nNnX refers to 121X1 and the opposite is true that j°nIX has a
positive connotation and 71°pon the negative one.
? This is a ‘secondary’ explanation. Other 0nwx" disagree with this ruling to remove (even) a (quasi) 'prim' from a
property in order to rule 123 0°287 73 (see ‘Thinking it over’ # 1).
* See footnote # 3.
> See oW "1o.
® See our Moo and the XM later on XN2MT 79Y oMY XK X,72 A7.
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